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QUESTION 1

Given the following code, which of the options best represents the resulting web page?

<html>
<bodvyv>
<hZ2>
Section Name
</ h2>
<p>
paragraph text
</p>
<ol>
<li>firat</12i>
<li>second</1li>
<li>third</1i>
</ol>
</body>
</ html>
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A
Secunon Name
paragraph text
o first
= second
e third
E.
Section Name
paragraph text
1. first
2. second
3. thard
3
Section Name
paragraph text
e first
e second
e third
D.
Section Name
paragraph text
[first, second, third]
A.B.C.D.

Correct Answer: D

QUESTION 2

What will be the output of the execution of following piece of code?
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import logging as log
log.basicConfig(level=log.INFO)
log.info("Line 3")

log.debug ("Line 4")
log.warning("Line 5")
log.error("Line &6")
log.info("Line 7")

INFO: root:Line 3
WARNING: root:Line 5
ERROR:root:Line &
INFO:root:Line 7

WARNING:root:Line 5
ERROR:root:Line &

INFO: root:Line 7
ERROR:root:Line ©
WARNING: root:Line 5
INFO:xoot:Line 3

INFO:root:Line 3
DEBUG:root: Line 4

WARNING: root:Line 5
ERROR:rooct:Line ©
INFO:root:Line 7

A.B.C.D.

Correct Answer: A

QUESTION 3
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Which of the following sentences is correct?

A. There is a way of taking the screenshots of modal message boxes with error messageson web pages with Selenium
WebDriver library

B. There is no way of taking the screenshots of message boxes with error messages, because the situation when an
error is shown on a webpage means that an automated test script has thrown an exception

C. There is no way of navigating on a web page when modal message box is shown, so there is no way of taking a
screenshot

D. There is a way of taking a screenshot of modal message box with error message, but it has to be done outside of
Selenium WebDiriver library e.g., with Selenium Screenshot library

Correct Answer: A

QUESTION 4

Which of the following statements is true about test automation metrics?

A. Meaningful test automation metrics should be established quickly

B. Meaningful test automation metrics are the same no matter the size of the project

C. Meaningful test automation metrics are simply comparing relative test effort for manual versus automated tests
D. Meaningful test automation metrics are part of demonstrating business value

Correct Answer: D

QUESTION 5

Consider the following XML document

<?xml version="1.0" encoding="UTF-E8"2>

<weather>
<temperature UoM="F" city="New York">80</taemperature>
<temperature UcoM="F" city="Chicago">53</temperature>
<temperature UoM="C" city="Warsaw">30</temperature>
<temperature UoM="C" city="Berlin">2Z24</temperature>

</weather>

A. /ltemperature[Berlin]/text()

B. /ltemperature[city="Berlin"]/text ()
C. IIM[@city=\\'Berlin\\' 3/text ()

D. /I* f@city="Berlin"]/CDATA

Correct Answer: D
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